Divide any pair of fractions

To divide a pair of
fractions, convert them
so they have the same

denominator and then divide

the numerators.

° Complete the calculations. /

a) 6+%= | 8 b) 6+%= 24

|
—
Ul
Il
w
»lw

To divide a number
by a fraction you multiply

by its reciprocal. Use Dexter’s method to work out:
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o Compare your answers to questions 2 and 3
Which method did you prefer using, and why?

Discuss it with a partner.

e Look at the method shown to work out 4 = 0.6

206=4:3=4x2=20_¢g2
4.0.6_4.5 4><3 3 63

Use this method to complete the calculations.

a) 3:02= b) 6 +0.4=

o Convert both decimals into fractions to complete the calculations.

a) 0.75+0.25 = + =

b) 0.5+0.125 = < =

¢) 0.6+0.25= = =

d) 09:025= < =
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Work out these values if x
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o Circle the calculation in each set that gives a different answer.
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